



Name: _____

Date: _____ Score: _____

$$\left(\frac{1}{6}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{4}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(\frac{1}{6}\right) + \frac{1}{3} = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{5} = \frac{24}{25}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{6} = \left(-\frac{11}{54}\right)$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{3}{5}\right) = \frac{2}{5}$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} = \frac{2}{3}$$

$$\left(-\frac{1}{6}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{2}{5} = \frac{42}{125}$$

$$\left(-\frac{3}{4}\right)^3 + \frac{3}{5} = \frac{57}{320}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{4}\right) = \frac{31}{36}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} = \frac{122}{375}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{29}{54}\right)$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) = \frac{37}{750}$$

$$\left(\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{427}{1080}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{3} = \frac{2}{75}$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{5}{12}\right)$$